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ErgasÐa 1h

1. 'Estw α, β, γ, δ ∈ Z. Na apodeÐxete ìti:

(i) α |α kai α | − α

(ii) An α | β kai β | γ, tìte α | γ

(iii) An α | β kai β |α, tìte |α| = |β|

(iv) 1 |α kai −1 |α

(v) α | 1 ⇐⇒ |α| = 1

(vi) α | 0

(vii) 0 |α ⇐⇒ α = 0

(viii) An α | β kai β 6= 0, tìte |α| ≤ |β|

(ix) An α | β kai k ∈ Z, tìte kα | kβ

(x) An α | β kai k ∈ Z, tìte α | kβ

(xi) An α | β kai α | γ, tìte α | β + γ kai α | β − γ

(xii) An α | β kai γ | δ, tìte αγ | βδ

2. 'Estw a, b, c, d ∈ Z me a | b, c | d kai a | c. Na apodeÐxete ìti a | b3 − 3b2c+ 3bd2 + 8bcd+ d3 − 16d+ a

3. 'Estw a, b, c ∈ Z me 12 | a+ 8, 12 | b+ 11 kai 12 | c+ 6. Na apodeÐxete ìti 12 | a+ 2b+ 3c.

4. 'Estw a, b ∈ Z me a | 7b+ 2 kai a | 11b+ 4. Na breÐte tic pijanèc timèc tou a.

5. 'Estw a, b, d ∈ Z me d | 5a+ 17b kai d | 2a+ 7b. Na apodeÐxete ìti d | a.

6. 'Estw a ∈ Z me 7 | a. Na apodeÐxete ìti 76 | 2a+ 6


